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x  exp(x) x exp(x) x  In® x  Ink) x  Wx x Jx
008 1.083 06 1822 1.1 0.095 25 0916 110 1.049 1725 1.313
01 1105 0.8 2226 1.2 0.182 3 1.099 1.20 1.095 1752 1.324
02 1221 1 2718 1.3 0.262 5  1.609 1.30 1.140 1775 1.332
021 1234 12 3320 1.5 0.405 6  1.792 140 1183 1974 1.405
022 1246 14 4.055 1.6 0.470 7 1.946 145 1204  2.000 1.414
03 1350 16 4.953 1.7 0531 8 2079 150 1225  2.661 1.631
04 1492 18 6.050 1.8 0.588 10  2.303 1.62 1273  27.70 5.263
0.5 1.649 2 7.389 2 0.693 1000 6.908 1.70 1304 3330 5.771
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